
Find the derivative of each function:

y = (2x− 7)3 y = 3(4− x2)5 g(x) = 3(4− 9x)4 f(t) = (9t+ 2)2/3

f(t) =
√
1− t g(x) =

√
5− 3x y = 3

√
9x2 + 4 g(x) =

√
x2 − 2x+ 1

y = 2 4
√
4− x2 f(x) = −3 4

√
2− 9x y =

1

x− 2
s(t) =

1

t2 + 3t− 1

f(t) =

(
1

t− 3

)2

y = − 5

(t+ 3)3
y =

1√
x+ 2

g(t) =

√
1

t2 − 2

f(x) = x2(x− 2)4 f(x) = x(3x− 9)3 y = x
√
1− x2 y =

1

2
x2
√
16− x2

y =
x√

x2 + 1
y =

x√
x4 + 4

g(x) =

(
x+ 5

x2 + 2

)2

h(t) =

(
t2

t3 + 2

)2

f(v) =

(
1− 2v

1 + v

)3

g(x) =

(
3x2 − 2

2x+ 3

)3

g(x) = lnx2 h(x) = ln(2x2 + 1)

y = (lnx)4 y = x lnx y = ln(x
√
x2 − 1) y = ln

√
x2 − 4

f(x) = ln

(
x

x2 + 1

)
f(x) = ln

(
2x

x+ 3

)
g(t) =

ln t

t2
h(t) =

ln t

t

y = ln(lnx2) y = ln(lnx) y = ln

√
x+ 1

x− 1
y = ln 3

√
x− 1

x+ 1

f(x) = ln

(√
4 + x2

x

)
f(x) = ln(x+

√
4 + x2) y = −

√
x2 + 1

x
+ ln(x+

√
x2 + 1)

y = −
√
x2 + 4

2x2
− 1

2
ln

(
2 +
√
x2 + 4

x

)

1



f(x) = e2x y = e−x
2

y = e
√
x y = x2e−x

g(t) = (e−t + et)3 g(t) = e−3/t
2

y = ln(1 + e2x) y = ln

(
1 + ex

1− ex

)

y =
2

ex + e−x
y =

ex − e−x

2
y = ln ex f(x) = e1−x

y = e−2x+x2

y = ln
ex + e−x

2
y = x2ex − 2xex + 2ex f(x) = e3 lnx

f(x) = 4x y = x(6−2x) g(t) = t22t f(t) =
32t

t

f(x) = log2
x2

x− 1
h(x) = log3

x
√
x− 1

2
y = log5

√
x2 − 1 g(t) =

10 log4 t

t

2


